TH6F11AERAS BRELR

BRE BAEFBEERIEREHLE

B & A % & B H BE KR
MAYBYH A (EIR) fAE Mt XEBE 0157 b= 1%
MNAYBYSHA CHE) fREHMmMEXREZE 0157 =
AYrF—X fAE Mt XEBE 0157 b= 1%
C A< (250g) fREHMmEXERE 0157 = %
OV R —HY Y (B1E) 450g BEHMERBEE 0157 b2 %
AV URT—HY) Y (FiR) 500g g I KIZE 0157 = %
SFkE frEHMmEXREBE 0157 = %
Y—R (9FR1Z) 160ml g I KIZE 0157 = %
RILFILY—R(INE) (iR e MM REZE 0157 = %
FaaL—roU—L g I KIZE 0157 = %
DEZAIZRL(HYE) frEHMmEXEBE 0157 = %
EAITHF—X (#lY)) 130g fAEHmEXBE 0157 = &
EAITBF—X (HEYD) 1ke frEHMmEXEBE 0157 = %
LY AlZw< 400g frEtmEXEBE 0157 [E
DYDEE (8g) (BiE frEHMmEXEBE 0157 = %
DYDMEE (109 (Fim fAEHmEXBE 0157 = &
INE— (H1R) 450g fREHMmMEXREZEE 0157 b= %
SYNFLEDE) fAE Mt XBE 0157 = %
SYmF(DdY-3) g M KIZE 0157 = %
SYMMTF (FY ABE) fAE Mt XBE 0157 = %
SUDITF (REZF) fREHmMEXREZEE 0157 =
2IAR—XEAFLY T GREM) fAE Mt XBE 0157 = %




TH6F11AERAS BRELR

BRE BAEFBEERIEREHLE

B & A % & B H BE KR
HD AT L EHMmEXEBE 0157 b= %
SYYRD v L g MM KIZE 0157 = %
S=Tqvva rEHMmEXEBE 0157 b= %
A=TLiavF(12g) fREH M4 XEBE 0157 (E3
=TI (TIL—Y)YAT 80g et m4EXBE 0157 [E
—HRAxX fREHMmMEXEZEE 0157 b=
1825 (500g) fE LM REEE 0157 = %
BigEF—X(159) g I KIZE 0157 = %
ZAYITAIZRL fE M REEE 0157 = %
RIAITRL(YR) REHMEXERE 0157 = %
AFL(E) frEHMmEXEBE 0157 = %
AFL ) fAEHmEXBE 0157 = &
MEDMEAE( T (BiR frEHMmEXEBE 0157 = %
BMNEIXS fAEHmEXBE 0157 = &
HH<h frEHMmEXEBE 0157 = %
BEH<H EwRYIY) (H7F) fAEHmEXBE 0157 = &
AT (ER fREHMmMEXREZEE 0157 b= %
KRHE ) (BR fAE Mt XBE 0157 = %
RKEV)—L(BREERID) fREHMmMEXREZEE 0157 b= %
BEHE(FER fAE Mt XBE 0157 = %
23 g MM KIZE 0157 = %
BH#&% (Fim fAE Mt XBE 0157 = %




TH6F11AERAS BRELR

BRE BAEFBEERIEREHLE

B & A % & 1E H BE KR
BHA&Z (5 (BiR fAE Mt XEBE 0157 b= 1%
MERF—X fREHMmMEXREZE 0157 b=
MERF—X (500g) (E:R rEHMmEXEBE 0157 b= %
X fREHMmMEXREZE 0157 b=
BX EHMEXEBE 0157 b= %
LAY X2—K (350g) fREH M4 XEBE 0157 (e
AEIZIV—YE)—(EEHMA) 50g et mEXEBE 0157 =
AEZIV—YE)—(EEPELY) 70g g I KIZE 0157 = %
mRHL(HR-T1L) (30g) e MM REZE 0157 = %
MEHLHYATL(30g) fREHMmMEXEZEE 0157 b=
AEVDHL (BAZE-#31) (309) fAE Mt XBE 0157 b= 1%
AEVDOL (FE-#5) (409) fAEHmEXBE 0157 = &
ARNHLTSA (40g) frEHMmEXEBE 0157 = %
REVAT—(HoUE) fAEHmEXBE 0157 = &
ARVAF—(AYh) frEHMmEXEBE 0157 = %
AEITHIT (Fvh) fAEHmEXBE 0157 = &
MEIEN g M KIZE 0157 = %
MEEMND fAE Mt XBE 0157 = %
BELLLY(TL—) g M KIZE 0157 = %
mEXa—Y fAE Mt XBE 0157 = %
AAEIOYT (MRS g MM KIZE 0157 = %
MESEVD fAE Mt XBE 0157 = %




TH6F11AERAS BRELR

BRE BAEFBEERIEREHLE

B & A % & 1E H BE KR
AREE (H1E) (30g) EHMmEXEBE 0157 b= %
AESE (H1R) (40¢) fREHMmMEXREZE 0157 =
AREE (H1E) (50g) rEHMmEXEBE 0157 b= %
ARSI (HIE-¥3M3) 40g g M KIZE 0157 = %
ARE(E (8E) (40g) EHMEXEBE 0157 b= %
MESDHL(HIR) (30g) fREHMmMEXBZEE 0157 b=
mRSHL (H1g) (40g) frEHMmEXREBE 0157 = %
AELLeE (15g) g I KIZE 0157 = %
AECPHANBLEIL frEHMmEXEBE 0157 = %
HE 21— A (18g) g I KIZE 0157 = %
WRIT—RA=FY frEHMmEXEBE 0157 = %
MRVVRES fAEHmEXBE 0157 = &
BEFERUNIN—7 (60g) e M KIZE 0157 = %
AEFEXUR—I fAEHmEXBE 0157 = &
BREFEUR—IL (EEAY) frEHMmEXEBE 0157 = %
MEBYHALSC fAEHmEXBE 0157 = &
ARESBAILESL fREHMmMEXREZEE 0157 b= %
AERICALAEZL fAE Mt XBE 0157 = %
BER—aY (hvh) g M KIZE 0157 = %
ARIFSES fAE Mt XBE 0157 = %
BERILRINL (HYB) g MM KIZE 0157 = %
MEIZVAF—(8g) fAE Mt XBE 0157 = %
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BRE BAEFBEERIEREHLE

B & A % & 1E H BE KR
WEITF Y (60g) EHMmEXEBE 0157 b= %
MRUERE g MM KIZE 0157 = %
AEDONSED)vE— BEHMERBEE 0157 (=3
AR fREHMmMEXREZE 0157 = 1
AEBENDIBIT BEHMERBEE 0157 (=3
BEBN(EDE-5ghvh) g I KIZE 0157 = %
AEEN(EDE-8ghuh) fE M REEE 0157 = %
MEBA(KD2E-LH-5ghvh) fREHmMEXBZEE 0157 b=
AEBRAEDE-13-10ghvh) e MM REZE 0157 = %
MREBA(KD2E-L1-15ghvh) fREHMmMEXEZEE 0157 b=
AERBA(REL-H5- 1% A) BEHMERBEE 0157 b2 %
AEEBIT(E2D) fAEHmEXBE 0157 = &
MEEBIT (D) BEGIT fAE Mt XBE 0157 b= 1%
MRS (H18) (30g) fAEHmEXBE 0157 = &
mREE(HIE-AY) frEHMmEXEBE 0157 = %
mEE (HIE-AY) (20m) fAEHmEXBE 0157 = &
ARG g M KIZE 0157 = %
AEFRA T (40g) fAE Mt XBE 0157 = %
MERRKEEBL g M KIZE 0157 = %
MEEF fAE Mt XBE 0157 = %
ARREL fREHmMEXREZEE 0157 =
MREE frEtm4XEBE 0157 b= 1%
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BRE BAEFBEERIEREHLE

B & A % & 1E H BE KR
AEEIE (Fe) BEHMERBEE 0157 (=3
AREE(K) fREHMmMEXREZE 0157 b=
ARBEA (1) 3mm3 x 3em rEHMmEXEBE 0157 b= %
AERA(O0—RX)2mm 3% 3 g M KIZE 0157 = %
ARBEA(A—X)3mm 3x3 fAE Mt XEBE 0157 b= 1%
AEBRRLL fREHMmMEXBZEE 0157 b=
AEBFEALE (EMT1 X 3cm) fE M REEE 0157 = %
AEBRRLY (A fREHmMEXBZEE 0157 b=
MRBHRATTA (40g) e MM REZE 0157 = %




